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 De Moivre’s theorem 
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  General form of an ellipse 
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  Parametric Form of an ellipse 
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  Definition of a conic 
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 Definition equation 
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  Normal to ellipse (Cartesian)  
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  Normal to ellipse (parametric) 
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  Chord of contact on an ellipse 
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  General equation of a hyperbola  
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 Definition equation for hyperbola 
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  Normal to hyperbola (Cartesian) 
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 Chord of a hyperbola  
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  Chord of contact on a hyperbola  
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  Parametric form of a rectangular 
hyperbola 
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   Integration 
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  Integration by parts formula  

   Motion 

 x =  a cos(nt + ∈)   
 
  Displacement for SHM 

 F =  ma     Force Equation 
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x =  f(x), use   
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  If 

..
x =  f(t), use  
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  If 
..
x =  f(v), use  

 ω =  dθ
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  Angular Velocity 



 v =  Rω   
 
 

 Circular motion velocity 

 a =  rω
2

  
 
  Circular motion acceleration 

 θ =  ωt     Angle = 

 T =  2π
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  Period of circular motion 

   Conical Pendulum 

 T cosθ –  mg =  0     Vertical Forces 

 T sinθ =  mrω
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    Radial Forces 

 ω =  2πn   
 
  Angular Velocity 

 r =  l sinθ   
 
  Radius 

 T =  4π2
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  Tension 
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  Height of pendulum 
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   Tan θ =   

   Banked Circular Track 

N cosθ –  F sinθ –  mg =  0     Vertical Forces 

 N sin θ +  Fcos θ =  mv
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  Radial Forces 
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  Height of outside wheel above 

inside wheel 

 v =  Rg tanθ   
 
  Optimum speed 
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Forces acting when not optimum 
speed 


